
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

16% = ________ 48% = ________

45% = ________ 31% = ________

11% = ________ 88% = ________

50% = ________ 56% = ________

44% = ________ 73% = ________

81% = ________ 13% = ________

79% = ________ 61% = ________

72% = ________ 35% = ________

80% = ________ 2% = ________

73% = ________ 16% = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Brüche in Prozent umrechnen

16% =
25
4

48% =
25
12

45% =
20
9

31% =
100
31

11% =
100
11

88% =
25
22

50% =
2
1

56% =
25
14

44% =
25
11

73% =
100
73

81% =
100
81

13% =
100
13

79% =
100
79

61% =
100
61

72% =
25
18

35% =
20
7

80% =
5
4

2% =
50
1

73% =
100
73

16% =
25
4
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